2
*
. -
¢ / P / |
' 4 ' .
4 E

GROUND ENGAGING
SCRAPER PARTS

All the Right Parts. i All the Right People.

HEAVY EQUIPMENT PARTS & SERVICE

www.HEAVYQUIP.com




HEAVYQUIP

SALES TERMS AND CONDITIONS

Freight FOB HEAVYQUIP Warehouse except as agreed in writing.
Payment Terms Net 30 days with approved credit
Parts Returns Parts may be returned at customer’s expense, for credit or replacement, only after

written authorization from HEAVYQUIP. Return quantities and prices are
at the sole discretion of HEAVYQUIP.

Claims Parts lost or damaged in transit are the sole responsibility of the buyer.

Acceptance of shipment by any freight carrier constitutes delivery to the buyer.

HEAVYQUIP WARRANTY

HEAVYQUIP warrants its products against defects in material and workmanship for their normal
wear life. HEAVYQUIP shall be liable only for replacement FOB its warehouse for products which do not
conform to specifications as determined by HEAVYQUIP’s analysis of the returned part.

Defective, broken teeth will be replaced 100%. In no event shall HEAVYQUIP be liable for any
special, contingent, or consequential damages, nor for machine work, labor charges, transportation charges,

taxes or other expenses incurred on its products.

Dear Customer:

The HEAVYQUIP catalog presents a wide variety of tips and adapters for your selection. The chemical
content, heat treatment, hardness, and wear-characteristics have been selected for each product to provide the per-
formance the market demands. Should you need more information regarding the products you are ordering,
please don’t hesitate to contact your HEAVYQUIP Customer Service Representative.

For manufacturers HEAVYQUIP can change the part number or logo on any of the parts in our catalog with a
lead-time of 60-120 day delivery. We can also modify the chemistry and hardness characteristics for most types, if
required by the customer. For production of new types, our lead-time is 90-120 days delivery. Tungsten Carbide
impregnated tips are also available at your request.

HEAVYQUIP wants to be your tooth and adapter supplier. We are prepared to give our distributors and man-
ufacturers the flexibility you need to respond quickly to your customers. We look forward to having the opportu-

nity to serve you.

A Toll Free: 877-871-8787
AH! “Se Habla Espaiiol” Dimensions may vary by manufacturer.
From Mexico:
Phone: 001-800-833-8097
HEMQ“IP From Central & South America:
WM Phone: 001-28_1 -481-6735 ) All manufacturers’ names, numbers, symbols & descriptions
From Quebec “Service en Francais”: are used for reference purposes only, and it is not implied that

Phone: 877-638-9825 any part listed is the product of these manufacturer’s.



HEAVYQUIP
INDEX

Caterpillar® Style Teeth (J200, J225, J250) .. ..ottt e e Page 2
Caterpillar® Style Teeth (J300, J350, J400) . .. ..ottt e e e e e Page 3
Caterpillar® Style Teeth (J450, J550) .. ..ottt Page 4
Caterpillar® Style Teeth (J600, J700, J800) . . ..o\ttt e e e e Page 5
Caterpillar® Top Pin Style Teeth . . ... o e Page 5
Caterpillar® Style Half Arrow Segments ... ...... ..o . Page 5
Caterpillar® Style Modulok® and Hensley® Style Vertical Edge Protectors .. ......... ... . ... ... Page 5
Caterpillar® Style Ripper Teeth, Protectors and Shanks . ..... ... ... ... ... ... . . . .. Page 6
Caterpillar® Style Adapters . . ... ... Page 7-9
Caterpillar®, Galion®, and Champion® Style Scarifier Teeth and Shanks for Graders . ............ ... ... ... Page 9
Caterpillar® and John Deere® Style Scraper Parts . ........ ... .. i Page 10-11
Caterpillar® Style Compactor Feet, Cleaner Bars, and Stands . ......... ... ... ... ... ... ... Page 12
Caterpillar® D6C/D, D8K, DIL, D10N and D11N Style Heavy Duty Cast End Bits . ............. Page 12
Caterpillar®, Hensley®, John Deere®, Esco®and Universal Style Sidecutters .. ........ ... ... .... Page 12
Hensley® Style Parabolic Teeth .. ... ... .. Page 13
Hensley® Style Parabolic Adapters .. ... ... . Page 14
Hensley® Style 5” Series Teeth .. ... o Page 14
Chocky Bars and Wear Buttons (Laminite®, White Iron) . ....... .. .. .. i .. Page 15
Esco®Style Helilok®/Vertalok® Teeth . ... ... o Page 16
Esco® Style Conical®Teeth ... ... Page 16
Esco® and Kelly® Style Ripper Teeth . ... ... Page 16
H&L® Style Teeth & Adapters . ... ...t Page 17
John Deere® Style Teeth & Adapters .. ... i Page 18
Hendrix® Style Teeth & Dredge Parts . ... .. Page 18
Bobcat® Style Tooth and Adapter . ...... ... Page 19
Ford® Style Tooth & Adapter ... ... ... e Page 19
ADCO® Style Teeth and Adapter NOse . . ... oottt Page 19
Komatsu®, Fiat®, and Hyundai®Style Teeth . . . ... ... o Page 20
Flying Tiger® & Wing Tip Style Teeth for CAT® and H&L® .. ... ... ... .. ... Page 21
Plow Bolts and INUEs . . . ...t Page 22
Abbreviation Descriptions . . ... ...ttt Page 23
Machine Application Guide for HEAVYQUIP Tips .. ... oot Page 23
Caterpillar® Tooth Identification Guide ....... ... ... . i i Page 24
Paver Parts Available from HEAVYQUIP (catalogue available at www.heavyquip.com) ............ Inside Rear Cover
Other Parts Available from HEAVYQUIP .. ... . . e Rear Cover

(Excavator Parts Catalogue available at www.heavyquip.com)

Carbide Imbedded Teeth - Call for price and availability.

A Toll Free: 877-871-8787
“Se Habla Espaiol” . .
A From Mexico: Dimensions may vary by manufacturer.

Phone: 001-800-833-8097
HEMQ“IP From Central & South America:
e—— — Phone: 001-281-481-6735 -

HEAVY EQUPMENTPARTS & SERVICE  Erom Quebec “Service en Francais”: All manufacturers’ names, numbers, symbols & descriptions
1 Phone: 877-638-9825 are used for reference purposes only, and it is not implied that

any part listed is the product of these manufacturer’s.



STANDARD ABRASION PENETRATION FLARE HD FLARE
T_ —~ T E_ﬁ'_—l o 1 I _.’ _____ L_L_,E F ‘ﬁr\,ﬁ T
T """" — T L:J/_Q_L_L I —L L — | L
A A L
= T ‘ A
Il ¢ c
i B
SYL RC PT & PT3 TIGER TWIN TIGER FLYING TIGER**
s e e e ) =
= - SN R S 5
| e — 1TSS ] = [ B
A ‘7 1 A 1 A }
— ' B T ey
[ =7 I
**See page 21 forE, F, & G
CAT® SKID STEER Use Tiger for A, B, & D.
CAT® # Style Weight Ibs. FH Screw Lock Nut
1324720 Unitooth B/O 4.4 1592953 8T4778
CAT® J200: 416, 426, 428, 436, 910, 931, 935, 307
Part # Style Weight lbs. | A B C D Pin Lock*
1U3201 Short 2.7 51/4 2 27/16 21/4 8E6208 8E6209
1U3202 Long 3.1 511/16 1 15/16 21/2 2 3/8 8E6208 8E6209
1U3202F Flare 2.8 5 4 3/8 25/16 2 3/8 8E6208 8E6209
1U3202FG Forged Long 3.1 5 4 3/8 25/16 2 3/8 8E6208 8E6209
1U3202FT Flying Tiger 3 61/2 2 3/8 21/4 8E6208 8E6209
1U3202T Tiger 2.4 61/2 2 3/8 21/4 8E6208 8E6209
1U3202WT | Twin Tiger 3 61/2 3 2 3/8 21/4 8E6208 8E6209
6Y6335 Unitooth B/O 5.8 BOLT 4F3656 NUT 5P8362
*All Steel Lock is 4T0001
CAT® J225: 446 and 933
Part # Style Weight Ibs. | A B C D Pin Lock*
6Y3222 Long 4.2 65/8 21/4 3 3/16 29/16 6Y3228 8E6259
6Y3222F HD Flare 5.9 5 3/4 45/8 3 3/16 25/8 6Y3228 8E6259
6Y3222FT Flying Tiger 5.5 7 718 3 3/16 219/32 6Y3228 8E6259
*All Steel Lock is 3G9609
CAT® J250: 916 THRU 930, 936, 941, 943, 951, 953, 205 THRU 214, 225, 229, 311, 312, 320 Spira.l Lock is 149-5733
Part # Style Weight Ibs. | A B C D Pin Lock*
1U3251 Short 4.7 6 3/8 29/16 31/4 2718 8E6258 8E6259
1U3252 Long 6.6 7 11/16 27/16 37/16 2 13/16 8E6258 8E6259
1U3252AP | All Purpose 6.2 7 1/2 21/2 3 5/16 27/8 8E6258 8E6259
1U3252FG Forged Long 6.6 7 1/2 21/2 31/3 3 8E6258 8E6259
1U3252FT Flying Tiger 9.0 8 3 15/16 2718 8E6258 8E6259
1U3252P Excavator Tooth | 5.2 7 1/2 21/2 31/4 2718 8E6258 8E6259
1U3252RC Rock Chisel 8.6 81/2 2 3/8 39/16 2 15/16 8E6258 8E6259
1U3252T Tiger 7.5 8 3 15/16 2718 8E6258 8E6259
1U3252WT | Twin Tiger 7.5 8 31/2 35/16 2718 8E6258 8E6259
3G8250 Flare 8.5 7 314 49/16 31/2 2 13/16 8E6258 8E6259
4T2253PT ABR/Penetration| 11.5 9 3/16 25/8 311/16 3 8E6258 8E6259
9J4253 Abrasion 7.0 7 1/2 3 31/4 3 8E6258 8E6259
9J4259 Penetration 5.2 7 11/16 11/4 3 3/8 2 15/16 8E6258 8E6259
9N4252 HD Long 8.6 7718 2 3/8 311/16 3 8E6258 8E6259
9IN4253 HD Abrasion 9.7 7 7116 31/16 35/16 3 8E6258 8E6259
2 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of

these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com



CAT® J300: 950, 953B THRU 966, E180, 215, 219, 235, 205 THRU 214, 315, 320, 322

Part # Style Weight Ibs. | A B C D Pin Lock*
1U3301 Short 7.9 7 7116 3 3 15/16 37/16 9J2308 8E6259
1U3302 Long 9.5 8 3/8 31/8 4 3 3/8 9]J2308 8E6259
1U3302FG Forged Long 9.5 87/16 31/16 41/16 37/16 9J2308 8E6259
1U3302FT Flying Tiger 12.0 91/2 41/8 41/2 9J2308 8E6259
1U3302P Excavator Tooth | 8.4 85/8 2718 3 15/16 35/16 9J2308 8E6259
1U3302RC | Rock Chisel 12.4 9 3/4 27/8 4 3/16 3 7/16 9]J2308 8E6259
1U3302SYL | Excavator Long | 9.7 9 3 11/16 4 35/8 9J2308 8E6259
1U3302TL | Tiger Long 9.3 91/2 41/8 41/2 9J2308 8E6259
1U3302WTL| Twin Tiger Long| 10.7 91/2 4 3/16 4 3/16 47/16 9J2308 8E6259
4T1300 Flare 11.5 81/2 6 37/8 3 3/8 9J2308 8E6259
4T2303 Abrasion 11.0 85/8 4 3718 3 9/16 9J2308 8E6259
4T2303PT ABR/Penetration | 16.8 10 1/4 3 5/16 45/16 31/2 9J2308 8E6259
9J4309 Penetration 8.6 8 11/16 19/16 41/16 31/2 9J2308 8E6259
9N4302 HD Long 12.3 811/16 2 3/4 41/8 41/2 9]J2308 8E6259
9IN4303 HD Abrasion 14.8 87/8 4 1/4 4 3 3/8 9J2308 8E6259
*All Steel Lock is 3G9609
CAT® J350: 966B, 977, 980, E180, E240, 213B, 214B, 215 THRU 229, 320, 322, 325, 330 Spiral Lock is 149-5733
Part # Style Weight Ibs. | A B C D Pin Lock*
1U3351 Short 9.9 7 15/16 31/2 41/8 3 13/16 8E6358 8E6359
1U3352 Long 14.1 91/2 3 11/16 41/4 4 8E6358 8E6359
1U3352FG | Forged Long 15.9 91/2 311/16 41/2 41/16 8E6358 8E6359
1U3352FT Flying Tiger 19.8 11 47/16 41/8 8E6358 8E6359
1U3352P Excavator Tooth | 11.0 9 1/4 35/8 43/16 3 3/4 8E6358 8E6359
1U3352RC | Rock Chisel 17.9 11 3 3/8 47/16 4 8E6358 8E6359
1U3352SYL | Excavator Long | 19.2 10 3/8 4 3/16 49/16 3 15/16 8E6358 8E6359
1U3352T Tiger 16.5 11 3/8 43/8 4 3/16 8E6358 8E6359
1U3352TL | Tiger Long 13.4 11 1/4 45/16 4 8E6358 8E6359
1U3352WT | Twin Tiger 16.7 10 3/4 4 3/4 41/2 41/16 8E6358 8E6359
1U3352WTL| Twin Tiger Long| 15.1 11 1/4 4 3/4 45/16 4 8E6358 8E6359
4T2353 Abrasion 16.8 9 1/4 45/16 41/4 3718 8E6358 8E6359
4T2353PT ABR/Penetration | 21.6 11 7/16 3 13/16 47/16 4 8E6358 8E6359
8J3350 Flare 16.7 91/2 7 41/2 4 8E6358 8E6359
9J4359 Penetration 12.1 95/8 17/8 47/16 4 8E6358 8E6359
9N4352 HD Long 18.7 10 1/16 37/16 45/8 3 15/16 8E6358 8E6359
9N4353 HD Abrasion 23.9 10 4 13/16 49/16 4 8E6358 8E6359
*All Steel Lock is 3G9549

CAT® J400: 980G, 322, 325, 330 Spring Lock is 114-0359
Part # Style Weight Ibs. | A B C D Pin Lock*
6Y7409 Penetration 18.5 10 1/2 21/8 51/8 45/8 7T3408 8E8409
713402 Long 18.7 10 5/16 41/16 4718 49/16 713408 8E8409
7T3402F HD Flare 25.6 10 5/16 8 1/4 4 15/16 411/16 7T3408 8E8409
7T3402FT Wing Tip 26.5 12 3/8 55/16 4718 713408 8E8409
7T3402PT ABR/Penetration | 30.9 12 5/8 4 1/4 4718 45/8 7T3408 8E8409
7T3402RC Rock Chisel 26.0 12 1/8 37/8 53/32 45/8 713408 8E8409
7T3402TL Tiger Long 21.6 12 13/16 51/4 411/16 7T3408 8E8409
7T3402WTL | Twin Tiger Long| 23.8 12 5/16 57/16 5 3/16 45/8 713408 8E8409
8E4402SYL | Excavator Long | 28.7 12 4 3/4 51/4 4718 7T3408 8E8409
8E4402 HD Long 25.0 11 1/8 4 51/4 47/8 713408 8E8409

A Toll Free: 877-871-8787 *Spring Lock is 116-7409

AH “Se Habla Espaiiol”
A From Mexico:

Phone: 001-800-833-8097 Dimensions may vary by manufacturer.
HEMQ“IP From Central & South America:

e R e ——— Phone: 001-281-481-6735 , -
HEAVY EQUIPMENT PARTS & SERVICE  Erom Quebec “Service en Francais”: All manufacturers’ names, numbers, symbols & descriptions
3 Phone: 877-638-9825 are used for reference purposes only, and it is not implied that

any part listed is the product of these manufacturer’s.




STANDARD ABRASION PENETRATION
- —
=l i —r ,

-

FLARE

HD FLARE

ii'_'_i@} =
*kk
TWIN TIGER FLYING T|(_3T_ER

=1 R s ==t ==

L —zH | — N ] ==

] e fl— — -
=3 1! \ ¢ =

CAT®J450/460: 983, 988, 988B, 225, 229, E300, 235, 325, 330, 345, 350 "See page 21 for E, F, & G
Part # Style Weight Ibs. | A B C D Pin Lock**
138-6451 HD ABR/Penetration| 48.5 14 5 5 15/16 55/8 8E0468 8E8469
1U3452F HD Flare 34.5 11 1/4 9 5 3/16 51/8 6Y2527* 8E6359
1U3452FT Flying Tiger 28.7 13 5/16 55/16 5 3/16 6Y2527* 8E6359
1U3452RC | Rock Chisel 31.4 13 41/4 53/8 5 3/16 6Y2527* 8E6359
1U3452TL | Tiger Long 29.5 14 1/16 53/8 51/4 6Y2527* 8E6359
1U3452WT | Twin Tiger 24.9 12 15 11/16 5 51/8 6Y2527* 8E6359
1U3452WTL| Twin Tiger Long| 33.1 14 1/16 67/16 53/8 51/4 6Y2527* 8E6359
IN4452 HD Long 36.4 12 7/16 45/8 51/2 5 1/4 6Y2527* 8E6359
9N4453 HD Abrasion 46.7 12 5/16 61/2 55/8 5 3/16 6Y2527* 8E6359
9W1453 Abrasion 34.0 11 5/8 5 3/8 55/16 5 6Y2527* 8E6359
9W1453PT | ABR/Penetration | 49.6 13 15/16 51/8 5 13/16 53/8 8E0468 8E8469
9W1453PT3 | HD ABR/Penetration| 53.5 14 1/2 51/8 6 51/2 8E0468 8E8469
9W1453RP3 | HD ABR/Penetration| 52.3 14 1/4 4718 511/16 51/4 8E0468 8E8469
9W8451 Short 25.4 10 1/2 45/8 415/16 5 3/16 6Y2527* 8E6359
9W8452 Long 27.2 11 1/2 45/16 5 415/16 6Y2527* 8E6359
9W8452FG | Forged Long 27/ 11 5/8 413/16 49/16 41/4 6Y2527* 8E6359
9W8452SYL | Excavator Long | 29.8 12 11/16 5 3/16 59/16 5 3/16 6Y2527* 8E6359
9W8452T Tiger 25.1 12 7/8 55/16 51/8 6Y2527* 8E6359
9W8459 Penetration 24.9 11 9/16 21/8 5 3/8 415/16 6Y2527* 8E6359

* If adapror is J460 with larger pin hole use 8E0468 pin and 8E8469 lock.

CAT®]550: 988G, 992, 235, 245, 345, 350, 375

**All Steel Lock is 3G9549 Spring Lock for 6Y2527 is 114-0359

Spring Lock for 8E0468 is 107-3469

Part # Style Weight lbs. [ A B C D Pin Lock*

138-6552 HD ABR/Penetration| 68.1 15 1/4 51/2 61/2 65/16 6Y8558 8E5559
1U3552F HD Flare 65.0 13 3/4 11 61/8 6 5/16 6Y8558 8E5559
1U3552FG | Forged Long 41.0 13 3/16 55/8 53/4 6 6Y8558 8E5559
1U3552FT Flying Tiger 54.2 151/8 6 3/8 6 5/16 6Y8558 8E5559
1U3552RC | Rock Chisel 50.0 15 51/8 61/8 61/4 6Y8558 8E5559
1U3552SYLFG| SYL Forged 41.4 14 5 61/8 6 1/4 6Y8558 8E5559
1U3552TL Tiger Long 36.6 15 5 3/4 61/8 6Y8558 8E5559
1U3552WT | Twin Tiger 35.3 13 1/4 611/16 5 3/8 6 6Y8558 8E5559
1U3552WTL | Twin Tiger Long| 38.4 15 7 1/4 53/4 61/8 6Y8558 8E5559
6Y2553 Abrasion 68.8 13 9/16 7 1/2 61/4 61/4 6Y8558 8E5559
9N4552 HD Long 54.2 14 9/16 51/2 6 3/8 61/4 6Y8558 8E5559
9W1553PT | ABR/Penetration | 60.6 14 3/16 51/2 61/16 6 1/4 6Y8558 8E5559
9W1553RP3 | HD ABR/Penetration| 68.5 15 1/4 55/32 61/4 61/4 6Y8558 8E5559
9IW8551 Short 39.8 11 5/16 59/16 5 3/4 6 6Y8558 8E5559
9W8552 Long 41.4 13 3/16 55/8 5 3/4 61/16 6Y8558 8E5559
9W8552SYL [ Excavator Long | 46.7 14 3/8 61/8 6 6 3/16 6Y8558 8E5559
9W8552T Tiger 46.7 151/2 6 3/8 65/16 6Y8558 8E5559
9IW8559 Penetration 32.2 13 1/4 29/16 59/16 515/16 6Y8558 8E5559

*All Steel Lock is 3G9559
Spring Lock is 107-8559

4 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of

these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com



CAT® J600: 992, 375

Part # Style Weight Ibs. | A B C D Pin Lock*
135-9600 HD ABR/ Penetration| 124.4 17 3/4 61/4 7 1/2 7 1/2 616608 616609
616602 Long 74.5 15 61/2 7 5/16 7 3/4 616608 616609
6I6602TL Tiger Long 74.7 18 7 1/4 7 314 616608 616609
616602WTL | Twin Tiger Long [ 79.8 18 1/4 9 3/16 7 1/4 7 13/16 616608 616609
6I6603PT ABR/Penetration| 128.3 18 1/2 6 3/8 7 1/4 7 13/16 616608 616609
717609 Penetration 58.4 15 1/2 3 3/8 7 1/4 7 1/2 616608 616609
7Y0602 HD Long 92.0 16 61/2 7 1/2 7 1/2 616608 616609
CAT® J700: 992G, 994, 375 (VMX bucket) "Spring Lock is 113-9609
Part # Style Weight Ibs. | A B C D Pin Lock*
135-9700 HD ABR/Penetration | 142.1 20 7 81/2 8 4T4708 4T4707
4T4702 Long 82.0 16 1/2 7 1/8 8 3/8 7 718 4T4708 4T4707
4T4703 Abrasion 108.0 16 7/16 9 81/2 7 15/16 4T4708 4T4707
4T4703PT | ABR/Penetration| 123.5 19 3/4 3 81/2 8 1/4 4T4708 4T4707
4T4703RP3 | HD ABR/Penetration | 125.0 19 1/2 7 81/8 7718 4T4708 4T4707
4T4709 Penetration 86.0 12 1/2 31/4 81/2 8 1/4 4T4708 4T4707
*Spring Lock is 113-4709
CAT® J800: 994
Part # Style Weight Ibs. | A B C D Pin Lock
618803 Abrasion 226.0 18 1/2 11 1/2 91/2 95/8 134-1808 134-1809
CAT® TOP PIN CONICAL STYLE TEETH (For adapter, sec CAT/ESCO* STYLE TOP PIN WELD ON ADAPTERS page 7.)
Part # Style Weight Ibs. | A B C D Pin Lock
4K0034 P18 4.6 7 5/16 25/8 211/16 25/8 4K0043 4K0041
4K6148 7.1 7 5/8 2 15/16 3 1/16 4K0032 4K0008
4K6936 P23 3.1 67/8 21/8 211/16 21/8 4K0043 4K0041
5K2924 P23 2.5 61/8 3 2 3/4 29/16 4K0043 4K0041
5K2925 P18 3.2 51/8 3 1/16 21/16 2 9/16 4K0043 4K0041
5K2926 5.9 61/16 3 3/8 31/8 3 5/16 4K0043 4K0041
CAT® STYLE HALF ARROW SEGMENTS
Part # Type Machine Quantity Weight Ibs. Thickness Bolt Nut Qty
1U0593NR | Center 966, 966B, 966C 3 230.0 27/8 5P8823 3K9770 12
1U0762NR | Center 980, 980B 3 274.0 31/8 5P8823 3K9770 12
3G6395RNR | Right 966 1 69.0 2718 5P8823 3K9770 3
3G6395LNR | Left 966 1 69.0 27/8 5P8823 3K9770 3
9W5730NR | Left 988B 3 68.0 2 3/4 5P8823 3K9970 3
9W5734NR | Center 988B 1 64.0 2 3/4 5P8823 3K9970 3
9W5737NR | Right 988B 3 68.0 2 3/4 5P8823 3K9970 3
101-9435 Center 988F 3 83.0 27/8 5P8823 3K9970 3
101-9436 Right 988F 2 86.0 27/8 5P8823 3K9970 3
101-9437 Left 988F 2 86.0 27/8 5P8823 3K9970 3
109-2675* Center 988G, *990, 992 1 250.2 51/8 5P8823 3K9970 4
109-2676* Right 988G, *990, 992 3 268.9 51/8 5P8823 3K9970 4
109-2677* Left 988G, *990, 992 3 268.9 51/8 5P8823 3K9970 4
217-4726 Right/Left 980B, 980G 2 82.0 31/8 5P8823 3K9770 3
217-4727 Center 980G 3 227.0 31/8 5P8823 3K9770 12
*For 990 use 2 of each type
CAT® STYLE MODULOK® AND HENSLEY® VERTICAL EDGE PROTECTORS
Part # Machine Quantity Weight lbs. Pin Lock/Plug Quantity
1U0740 992 2 49.0 100739 8E5559 4
9J9600 988B 2 38.0 9J8842 6Y9459 4
VS450* 6-8 Yards 2 42.5 EMP-003 EMI-004 4
VS§500* 9-15 Yards 2 66.0 VS272P EMI-004 4

*V8450/550 Optional Weldments - VSM100WN (1.0”), VSM150WN (1.5”), VSM175WN (1.75”), VSM200WN (2.0”)

5 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of
these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com



Type 1- Centerline Type 2- Penetration Type 3- Repair Nose
Ripper Tooth Ripper Tooth Ripper Tooth
- ST TTYS S—— a)
il ; G - 1D
1 e B i
E—
T £
< ic
) S 741791
A Lo Nwt=16
CAT® STYLE RIPPER TOOTH AND SHANK for 951, 955, 140, 140G
Part # & Type| Style Weight Ibs. | A B C D Pin Lock
6Y0309 2 | Penetration 11.5 11 1/2 2 31/8 2 3/8 9IW2668 8E6359
9J6586 Shank 51.3 9W2668 8E6359
9]8913 Shank 58.0 9IW2668 8E6359
CAT® STYLE RIPPER TEETH AND SHANK for D5, D6, D7, 973, 977, 983, 14G, 16G
Part # & Type| Style Weight Ibs. | A B C D Pin Lock
6Y0352 1 Centerline 24.0 14 17/8 47116 3 3/32 8E6358 8E6359
6Y0359 1 | Penetration 25.8 14 1/4 2 1/16 43/8 3 8E6358 8E6359
7]J3312 3 31.9 13 29/32 3 5/16 329/32 3 4T2479 N/A
9J3139 Shank 134.0
9W7382 Shank 305.0
CAT® STYLE RIPPER TEETH AND FIELD REPAIR NOSE ADAPTER for D8, D8K, DSL, D8N, D8R, D9, D9H, DIN, D9R
Part # & Type| Style Weight lbs. | A B C D Pin Protector
9W2451 1 |[Short 32.2 13 31/8 4718 33/8 4T2479 6J8814
9W?2452 1 |Intermediate 36.4 14 13/16 3 9/16 4718 3 3/8 4T2479 6)8814
4T4453 1 |Long 35.1 16 5/8 33/8 4718 33/8 4T2479 6J8814
4T5452 2 |Intermediate 33.7 15 5/8 21/8 4718 3 3/8 4T2479 6J8814
4T8990 Shank 644.0
7J1791 Repair Nose 165.3 14 1/4 23 3/8 3
CAT® STYLE RIPPER TEETH for D9L, D10, D11
Part # & Type| Style Weight Ibs. | A B C D Pin Lock
4T4502 1 [Intermediate 66.1 17 3 65/8 4 1/4 3G0500 N/A
4T4503 1 [Long 66.1 19 3 65/8 41/4 3G0500 N/A
4T5501 2 [Short 52.9 14 3/4 3 3/16 65/8 41/4 3G0500 N/A
475502 2 |Intermediate 60.2 16 15/16 3 65/8 41/4 3G0500 N/A
4T5503 2 [Long 61.7 18 5/16 3 65/8 41/4 3G0500 N/A
9W4551 1 |Short 88.5 17 5/8 3 8 3/8 49/16 6Y2443
CAT® STYLE RIPPER PROTECTORS
D8K/L/N/R, D9G/H D8K/N/R/L, DIN/R/H DIL/R, D10N D10, D10R, D11 D11S
Shank Protector| 6J8814 or 6J8814W* 8E1848** 3 1/4" shank 9W8365 4 1/4" shank 6Y8960 IN4621
Weight Ibs. 24.5 53.2 46.3 86.9 80.0 169.0
Pin/Lock 6Y3394/8E4743 412479 6Y3909/4T4707 6Y3909/4T4707 8E2229/8E2230
*Long Version **Heavy Duty Available

A

Vi 1\
HEAVYQUIP

HEAVY EQUIPMENT PARTS & SERVICE

6

Toll Free: 877-871-8787
“Se Habla Espaiol”
From Mexico:
Phone: 001-800-833-8097
From Central & South America:
Phone: 001-281-481-6735
From Quebec “Service en Francais”:
Phone: 877-638-9825

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.



[ —t%
- A
\
Cet i
TYPE 1 —® A
(Center)
TYPE 2

15—

1
+ T
H ]
/
L_"_/)’//’J

|

" :

: %_CL
T

]

TYPE 3

(RH Shown, LH Opposite)

Plow Bolt

— 1

[ A

jﬁ

TYPE 8 B
(2 Bolt)
TYPE 9 TYPE 10
(Center) (RH Shown, LH Opposite)
CAT® STYLE ADAPTERS
E & F available on request
CAT® STYLE BOLT ON CENTER ADAPTERS
Part # Family & Type | Weightlbs. | A B C D Bolt Nut
8E2184 J200 6 4.8 2 3 13/16 4F3656 4K0367
9]4207 200 6 | 75 25/8 31/2 13/16 2J4771 2J3506
100257 J250 6 18.5 2 3/4 4718 11/16 5P8136 8J2933
100307 J300 6 23.6 2 3/4 4718 11/16 5P8136 8J2933
3G5307 J300 5 30.0 33/8 5 3/4 1 5P8136 8J2933
3G9307 J300 6 26.3 3 3/8 65/16 15/16 5P8361 5P8362
4T4307 J300 6 26.9 3 3/16 61/2 15/16 5P8136 8J2933
9]2307 J300 6 25.7 91/2 3 11/8 1J3527 2J3507
1U1357 J350 6 44.7 41/16 61/8 113/16 5P8361 5P8362
3G3357 J350 6 34.8 378 57/8 111/16 5P8361 5P8362
3G7357 J350 6 46.2 33/8 6 1/4 11/4 6V8360 5P8362
619898 J400 6 54.8 4 3/32 61/8 11/4 5P8361 5P8362
A Toll Free: 877-871-8787

“Se Habla Espaiol”
From Mexico:
Phone: 001-800-833-8097
From Central & South America:
C— C—— Phone: 001-281-481-6735
HEAVY EQUPMENT PARTS & SERVICE  Erom Quebec “Service en Francais”:
7 Phone: 877-638-9825

Vi 1\
HEAVYQUIP

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.




CAT® STYLE BOLT ON CORNER ADAPTERS

Part # Family & Type | Weightlbs. | A B C D or Bolt Bolt Nut
102208 J200 7L 8.4 43/4 2 3/16 13/16 6F0196 2]3505
102209 J200 7R 8.4 4 3/4 2 3/16 13/16 6F0196 2J3505
3G4258 J250 7L 22.9 5 3/4 43/16 11/16 3 4J9058 8J2933
3G4259 J250 7R 203 5 3/4 4 3/16 11/16 3 4J9058 8J2933
619250 J250 8L 29.0 7 1/2 65/8 4J9058 4F4042 2]3507
619251 J250 8R 29.0 7 1/2 65/8 4J9058 4F4042 2J3507
3G4308 J300 7L 37.7 7 4 3/4 11/16 41/16 5P8823 5P8362
3G4309 J300 7R 37.7 7 4 3/4 11/16 41/16 5P8823 5P8362
3G8308 J300 7L 35.9 8 51/2 19/16 51/8 5P8823 5P8362
3G8309 J300 7R 35.9 8 51/2 19/16 51/8 5P8823 5P8362
8E5308 J300 8L 37.2 7718 67/16 8T9079 5P8823 3K9770
8E5309 J300 8R 37.2 7718 67/16 8T9079 5P8823 3K9770
3G5358 J350 7L 50.2 81/2 55/8 19/16 51/8 5P8823 5P8362
3G5359 J350 7R 50.2 81/2 55/8 19/16 51/8 5P8823 5P8362
8E5358 J350 8L 54.6 51/2 7 1/16 6V6535 5P8361 3K9770
8E5359 J350 8R 54.6 51/2 7 1/16 6V6535 5P8361 3K9770
618243 J400 8L 83.0 10 3/4 81/8 5P8361 6V6535 3K9770
618244 J400 8R 83.0 10 3/4 81/8 5P8361 6V6535 3K9770
CAT® STYLE WELD ON BOTTOM LEG ADAPTERS

Part # Family & Type | Weightlbs. | A B C D E F
8]7525 J200 4 3.5 3 15/16 1 1 1/4 23° 14°
3G0169 J250 4 9.5 71/2 25/16 2 5/16 22° 15°

CAT® STYLE WELD ON CENTER DOUBLE STRAPPED ADAPTERS

Part # Family & Type | Weightlbs. | A B C D E F
6Y3224 J220 9 7.3 55/16 37/16 11/16 7/16 22° 8°
6Y3254 J250 9 11.2 61/8 5 15/16 3/8 22° 9°
3G6304 J300 9 16.8 8 49/16 15/16 9/16 22° 8°
3G6304HD**| ]300 9 16.8 8 49/16 15/16 9/16 22° 8°
8E9490 J300 9 17.2 8 1/4 5718 19/16 1/2 23° 12°
1U1350* J350 9 30.7 10 7 113/16 11/16 22° 14°
3G8354 J350 9 20.3 81/4 43/4 111/16 5/8 35° 8°
616354** J350 9 27.2 9 7 1/4 113/16 9/16 22° 12°
616404 J400 9 29.5 9718 7 314 17/8 3/4
1U1454 J450 9 40.1 10 1/2 8 21/8
114-0464** J460 2 46.3 12 8 21/8 3/4
616464** J460 9 49.6
8E3464 J460 2 46.3 121/2 9 21/8 3/4 22° 12°
8E6464 J460 9 40.1 11 1/8 7 3/8 21/8 7/16 24° 9°
107-3554** J550 2 76.1 14 1/2 121/2 25/8 1 22° 15°
1U1553 J550 9 62.2 14 10 1/2 21/2 1 23° 9°
3G9494 J550 2 67.0 14 1/4 12 5/8 25/8 11/16 22° 15°
616554** J550 9 77.0 13 1/4 11 29/16 11/16 22° 9°
616604 J600 9 125.7 141/2 12 31/16 13/8 22° 9°
4T4704 J700 2 161.2 18 1/8 13 1/8 31/16 1 22° 15°
618804 J800 9
*For Loader Bucket
**Shouldered
A Toll Free: 877-871-8787
“Se Habla Espaiol” . .
AHA From Mexico: Dimensions may vary by manufacturer.

Phone: 001-800-833-8097
HEMQ“IP From Central & South America:

HEAVY EQUIPMENT PARTS &SERVICE  Erom grl]ggico‘?;ézr\?l't:i’k?;?a’?lcals” All manufacturers’ names, numbers, symbols & descriptions
8 Phone: 877-638-9825 are used for reference purposes only, and it is not implied that

any part listed is the product of these manufacturer’s.




CAT® STYLE WELD ON CORNER ADAPTERS (See page 7 for drawings of types.)

Part # Family & Type | Weightlbs. | A B C D E F
3G6305 J300 10R | 17.5 8 49/16 15/16 9/16 22° 8°
3G6306 J300 10L | 17.5 8 49/16 15/16 9/16 22° 8°
1U1351* J350 I9R 23.1 10 7 113/16 11/16 22° 14°
1U1352* J350 9L 23.1 10 7 1 13/16 11/16 22° 14°
3G8355 J350 10R | 19.6 81/4 4 3/4 111/16 5/8 35° 8°
3G8356 J350 10L | 19.6 8 1/4 4 3/4 111/16 5/8 35° 8°
616405 J400 10R | 27.0 95/8 7 5/8 17/8 3/4
616406 J400 10L | 27.0 95/8 7 5/8 17/8 3/4
114-0465** J460 3R 47.0 11 8 21/4 7116
114-0466** J460 3L 47.0 11 8 21/4 7116
8E3465* J460 3R 47.0 12 1/2 9 21/8 3/4 22° 12°
8E3466* J460 3L 47.0 12 1/2 9 21/8 3/4 22° 12°
8E6465 J460 10R | 46.5 111/8 7 3/8 21/8 7116 24° 9°
8E6466 J460 10L | 46.5 11 1/8 7 3/8 21/8 7/16 24° 9°
107-3555** J550 3R 78.3 14 1/2 121/2 25/8 1 22° 15°
107-3566** J550 3L 78.3 14 1/2 12 1/2 25/8 1 22° 15°
1U1555 J550 10R | 62.0 14 10 1/2 21/2 1 23° 9°
1U1556 J550 10L | 62.0 14 10 1/2 21/2 1 23° 9°
3G9495 J550 3R 68.8 15 13 3/8 25/8 11/16 22° 15°
3G9496 J550 3L 68.8 15 13 3/8 25/8 11/16 22° 15°
616605 J600 IR 133.4 14 1/2 12 31/16 13/8 22° 9°
616606 J600 9L 133.4 141/2 12 3 1/16 13/8 22° 9°
*For Spade Nose Loader Bucket **Shouldered
CAT® STYLE FLUSH MOUNTED ADAPTERS (See page 7 for drawings of types.)
Part # Family & Type | Weightlbs. | A B C D E F
4T1204 J200 1 4.4 7 1/4 1/2 1/2-1 23° 13°
1U1254 J250 1 12.6 91/4 2 1 22° 13°
1U1304 J300 1 18.1 9 3/8 25/16 11/16 22° 14°
1U1354 J350 1 31.7 11 1/4 3 3/4 11/2 22° 14°
Universal
A C
e o i I

@
S TT-TT]

i

CAT®, GALION®, and CHAMPION®STYLE SCARIFIER SHANKS & TIPS for MOTOR GRADERS

Part # Style Weight Ibs. A B C Wedge

9F5124 Shank 12.8 3 17 1/4 1 5K1459

101 Shank Universal 12.0 3 17 1/4 1 5K1459

8110 Shank Champion® 13.4 2 15/16 16 3/4 1 098

6Y5230/2D5572| Tooth 3.0 7 1/8 13/4 N/A

31281C Tooth-Galion® 2.7 6718 15/8 N/A

31280D Shank-Galion® 13.6 N/A
9 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of

these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com



IOUST A SHERAS ¥ PUT INU 8S6/:11 © O LEGOLE woh ¥ “SUmgsnd 30onpos o4 01 8 /S © JO Yoo O PIA €TOZ.LE 95N FOLOLE 10320sds o[oy 1oq Ut o, 50,4 -

S8EOSELL PSN 230q ,,9°C F0F - 230 ,§°S -,

Ssogglc @sn 6ECT-1ZLY #S 300 ~ s
SOLSIL 2SN 6EC T~ 1 ALY #S 300 —
FOLSIL ST GEC T 1L Z LY #S O —

+

- 8 m

dn pue L6 TINTL #S -

- V/N - V/N [ + 60969¢ | + 60969¢ | + 60969¢ | ¥ 60969¢ | + 6096O¢ EETZEN

S 09Td 12 09Td | ¥ 30¢cl6 | v 30¢cl6 | ¥ 30¢ccl6 | ¥ 8GCoHs | ¥ 8GCOHS OId c<

S 02X 1 091X t TA20cENT 1+ TA20€ENT t TAC0EENT t J1d2cSzeNt t Td2S2eNT | Auo eI, vD) YrOOT, #93L], SUIALL 1€

S 0TT X098 + 09TXOST | ¥ Logcle | v Locele | ¥ Logcle | v Sssvsle | + Sssi8lo depy 0¢

T 6961Ic | 1 6961.1C T 6.vcIc | 1 ceislZ | 1 celIsiL PFOqPIOIN  6¢

¢ goscle | st 9oscle | oz Loscle | oc Loscle | L1 Los¢lz | st goscle | st 90s¢lT INN MO[d 3C

< TLPIS | St cL/¥[S | oc Zhordy | OC Tordy | L1 8S06l¥ | ST T8y | ST LTSy og AO0[d LT

4 ISHSHIL | ¢ 808s1N | < 21991y | ¢ 21991¥ | ¢ ,908SM6 | T €1991¥ | ¢ €199.1y opeld Pud 92T

1 SSHSHIL T 608S1N T L88TIy | 1 L88Z.1 T <LOSSMG6 | 1 11990% | 1 11991 Spe[d ¥9IU2D ST

- V/N - V/N - V/N | - V/N - V/N | 9 Lv28ds | 8 L¥Z8dS IYSEX\ MO[d VT

+ 90s€lc 9 ooselz | o1 Losglz | ot L0s€lT Los€lz L9€OSIY | 8 LIEOSTY N A0[d  $T

I 1LL¥(S 9 cLivls | ot L09S[T | o1 L09S[T | o1 rogzle | 9 2606S8 | 8 2606S8 1og MO 54

T | @D ozskinL T HDITkotN | < ccoelL | ¢ ccoelL | ¢ ccoclL GLVD) dH ¥1d oy Ve

1 (I 61SFILL 1 (HWOTH9 1N C So98ly | ¢ 59981 C So98ly | < oceh Iy | ¢ 1¢81.16 g FoINoy f4

4 ssolic | ¢ SS6LIC - V/N | - V/N | - V/N EEENES§ 1C

k4 10609¢ | ¢ 10609¢ | ¢ 10609¢ | - V/N | - V/N Uo PP\ PRIS 0

o1 orsyde | o1 91stde | ot 91S5Hde | O1 cisyde | ot z1Shde ysex\ 61

01 Lseslt | ot Lseslt | ot LSTSHT | 01 8SYOVT | O1 85OV 1 o 81

I 112LI8 1 T1CLI8 I 11cLI8 3 9G6¢GIL I 9G6¢GlL H'I °Pmo F00[g L1

[ 01cLIS 1 01zLI8 1 orecLI8 I Sseeslr 1 sseslr HY 2pPmo JOO[] 91

zl ciskde | 21 zisyde | 8 6618 | 8 o6t I8 | 8 661,18 Iysex\ Gl

zl 609vAl | 2t 609+ 8 609¥Ar | 8 609¥Ar | 8 6091 iod ¥l

+ z/8Lo¢ | v 2L8LO¢ | v LeceIT | ¥ LecexT | b LECEIT EEEETET SIS

8 coLtfo | 8 20L1{9 + zoL1o | ¥ coLio | + 20oL1{9 INN YA ID[[OY FOO[] zl

- —— T — z 66CLrl | € oorM8 | < veeolo | ¢ 8res8l8 | ¢ 181C8(8 I2[OY FOIDH FomO[ ]
a1 LLOTHYT ;zv a1 8SOLHYT szv 4 11621z | ¢ os¢Lle | < 9zgoIz | ¢ erools | 2 1£+96(S F2[[OY F0I23(H SIPPIN 0T

@l 89¢CHO6I Mod cr TLVPTHGT 3od

1 SIELI8SELL I SIF0STELL z 10084dS | ¢ 1008dS | < 10084S | 2 10528[8 | 105Z8(8 F21[0y F0322( sodd 6
4 L98SETLL, 4 osteLL | 2 29598 | ¢ 2959(8 4 840012 | T 9010[6 | 2 19010[6 F2[[OY /FTPL Wwonog 3
- V/N - V/N| ¢ 98019¢ | < 98019¢ | < [+001Z | T 0L18(8 | 2 0,18(8 FI[OY /FIP #2IU2) L
4 VIISSSL | ¢ VIISSSL | < o6rLOE | ¢ o6rLOe | ¢ 940012 | < to6elz | < +96€.1T Fo[10y FIPT Foddn 9
%4 €ETEOLLY | 8T STTEOLLV | St £88¢1 | s1 zz1L8 | 81 210012 | S1 6.9012 | 91 ¥L1¥[8 YD1 S
0T IWZLINVE | v 01SOLL | 91 zisyde | 91 zisyde | 91 z1svde | 91 614l | 91 61yl Fyse\ 193poxds Oy
01 6£0IHYL | TT +SOTHYL | 91 oosglz | 91 oosglz | 9t 90s¢lz | 91 80stds | 9t 805t dE N doxdg gy
0L GOTEHGL | 2L STLZHGL | 91 96,180 | 91 96180 | ®2 8| zr® 019yl | 91 L+609dZ | 91 L+609C 1jog 193poids v
I SMA6LISELL 1 SIFLE9SCLL | 1 16821 | 1 Sayysols | 1 Sdetcole | 1 Sdeeozie | 1 Sdes91l6 3] 20¢ 3193001dg ¥
4 6£9SETLL | T JLEISELL | T 16821c | ¢ Psolg | ¢ 6+201Z | T €9zl | T €516 1o203dg S
8¢ z1stde | 801 zisydae | ozt 01s+de | 021 01s+dg | 88¢ Lv28ds | 0Z1 St28ds | 821 St28dS FPyse\ WS DT
8¢ 8SOTHVI | 801 8SOTH¥1 | 0T1 €81€ds | oz1 €81eds | v¥1 €81eds | ozt +8994d9 | 821 89949 NN IYSIT  dC
8¢T 91.ZHG61 | 80T 91.ZHG61 | 0TT 9.51S0 | ozt 9/51S0 | +¥1 9/51S0 |ozt €091S0 | 8zt €09TS0 1og IS VT
3 298/0953191 T T9L/09399d | 1 | A/dgeoddd | 1 ceodIgd | 1 SIOSIdd | 1 OCIONdA | 1 C193Igd ] [og WS T
1 ISETI9LV 1 61S2eLV | ¢ gcoelz | ¢ 16ce9O¢ | ¢ TL00IZ | T +0101C | ¢ stiole ureyq) T

O Z98/098 O Z9L/09L O A/ HEC O €29 O ST9 (e} DEL9 O | d€19/€19 vonduosaq w1

798 ANV 098 TIL ‘09L ‘€79 ‘TT9 ‘S19 ‘€19 WOA SLUVA YAIVIIS ATALS » TUTAA NHO[ ANV &LV m




D€19/4d€19/€19

11



Type 1 - Weld-on

CAT® COMPACTOR FEET, CLEANER BARS, AND STANDS

Type 2 - Bolt-on

[o0)

N
5y

Type 3 - Weld-on

T
|
1

Part # & Type |Style Weight Ibs. A B C D E F

2V7053 1 815B Foot 9.0 65/8 3 3/16 2 13/16 15/8

4V0668 3 |825C Foot 15.1 8 7/16 37/16 31/2 115/16

4V3851 3 815, 815F Foot 8.2 611/16 3 3/16 2 13/16 15/8

7K2939 3 |824/5, 834/5Foot 13.8 8 9/16 3 3/16 21/8 15/8

8K9189 2 815, 815F Foot 8.6 611/16 2 3/4 21/2 11/4 41/2 11/16
BOLT - 7K6692 NUT - 7H3607 'WASHER - 550581

2V6628 2 |825, 835 12.7
BOLT - 0T0856 NUT - 6B6682 'WASHER - 5H1504

5V4311 815B Cleaner Bar | 2.1 Tip - 3G8250 Pin - 8E6258 Lock - 8E6259

487928 825,835  Cleaner Bar| 12.8

7K6908 815 Stand 10.0 Weld on Stand for 8K9189, 4V3851, and 2V7053 Feet

383225 815, 815F, 825B, 835 | 4.4 Cleaner Bar Retainer

353228 834, 835, 824B, 825B/C| 15.6 Cleaner Bar

CAT® D6C/D, D8K, DIL, D10N, D11N, ESCO® AND CAT® STYLE HEAVY DUTY CAST END BITS

CAT® # Style Type Weight Ibs. Bolt Nut Quantity
3G8319C D6C/D Right 42.0 4F7827 2J3506 6
3G8320C D6C/D Left 42.0 4F7827 2J3506 6
3G8301C D8K Right 74.0 4J9058 2J3507 7
3G8302C | DSK Left 74.0 4J9058 2J3507 7
8E4541 D10N(2 1/4") Right 281.0 5P8823 3K9770 7
8E4542 DION(2 1/4") Left 281.0 5P8823 3K9770 7
8E4545 D1IN Right 371.0 5P8823 3K9770 9
8E4546 D1IN Left 371.0 5P8823 3K9770 9

* CAST END BITS ARE AVAILABLE IN MANY TYPES. CALL FOR AVAILABILTY.

CAT® , HENSLEY®, JOHN DEERE®, ESSCO®, AND UNIVERSAL SIDECUTTERS

Part # Type Weight Ibs. Bolt Nut
B330 RH 45.0 4F4042 2J3507
B331 LH 45.0 4F4042 2J3507
PDE31329 Universal 35.6 5J2409 (3") 2J3505 (7/8")
T1156A LH 55.0 5J2409 2J3505
T1157A RH 55.0 8H5772 2J3507
7Y0203 LH 16.9 093-7676 096-7074
7Y0204 RH 16.9 093-7676 096-7074
8J9614 LH 49.0 7Y2146 2]3507
8J9615 RH 49.0 7Y2146 2J3507
CE17748R3 RH 50.7 5J2409 (3”) 2J3505 (7/8”)
CE17748L3 LH 50.7 5J2409 (3”) 2J3505 (7/8”)
]_2 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of

these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com




13

HENSLEY® STYLE PARABOLIC TEETH

=

Part # Style Weight Ibs. | A B C D Steel Pin Flex Pin
X156 Short 1.4 41/2 113/16 19/16 15/8 P156 N/A
X156F Flare 2.8 5 4 3/4 19/16 15/8 P156 N/A
X156L Long 2.7 6 1 15/16 19/16 15/8 P156 N/A
X156LP HD Long Panel | 3.6 6 21/4 15/8 15/8 P156 N/A
X156T Tiger 2.0 5718 19/16 15/8 P156 N/A
X156TL Tiger Long 2.0 6 15/8 15/8 P156 N/A
X156WT Twin Tiger 3.5 6 31/4 15/8 15/8 P156 N/A
X156WTL Twin Tiger Long| 3.5 61/4 31/4 19/16 15/8 P156 N/A
X160 Long 3.5 65/8 25/16 15/8 2 3/8 P160 N/A
X160ST Star Penetration | 4.4 7 314 1 15/8 2 3/8 P160 N/A
X162HD HD Long 4.2 65/8 21/8 13/4 21/2 N/A 162P
X220 Long 6.0 7 2718 2 1/4 21/8 P160 N/A
X220T Tiger 6.2 7 314 21/4 21/8 P160 N/A
X220WT Twin Tiger 8.5 7 718 41/8 21/4 21/8 P160 N/A
X290 Long 8.7 8 31/4 2718 211/16 K290S P290STP
X290F Flare 11.6 8 61/4 27/8 211/16 K290S P290STP
X290RC Rock Chisel 10.2 8 3/4 3 2718 211/16 K290S P290STP
X290TL Tiger Long 8.1 95/8 3/16 2718 211/16 K290S P290STP
X290WTL Twin Tiger Long| 9.9 95/8 45/8 2718 211/16 K290S P290STP
X310 Long 7.3 7 5/8 31/2 3 21/4 P160 N/A
X310ABR HD Abrasion 15.5 8 3/4 4 3 21/4 P160 N/A
X310F Flare 7.5 7 5/8 6 3 21/4 P160 N/A
X310T Tiger 10.7 9 3/4 3 21/4 P160 N/A
X310WT Twin Tiger 12.6 91/2 4 3/4 3 21/4 P160 N/A
X330 Long 13.8 91/8 35/8 3 3/8 3 3/16 K330S P330STP
X330ABR HD Abrasion 15.5 91/4 41/4 3 3/8 3 3/16 K330S P330STP
X330F Flare 18.1 95/8 7 1/4 3 3/8 3 3/16 K330S P330STP
X330PT ABR/Penetration| 20.0 11 1/4 3 15/16 3 3/8 3 3/16 K330S P330STP
X330RC Rock Chisel 15.2 10 31/2 3 3/8 3 3/16 K330S8 P330STP
X330T Tiger 11.2 11 3/16 3 3/8 3 3/16 K330S P330STP
X330WT Tiger 14.7 11 51/4 3 3/8 3 3/16 K330S P330STP
X370 Long 18.5 10 1/4 41/8 35/8 3 3/8 K370S P370STP
X370ABR HD Abrasion 25.6 11 3/4 45/8 35/8 3 3/8 K370S P370STP
X370F Flare 22.9 10 1/4 8 35/8 3 3/8 K370S P370STP
X370PT ABR/Penetration| 32.5 115/8 4718 35/8 3 3/8 K370S P370STP
X370T Tiger 18.2 12 35/8 3 3/8 K370S P370STP
X370WT Twin Tiger 21.0 12 6 35/8 3 3/8 K370S P370STP
X400 Long 16.0 95/8 41/8 4 3 N/A P350/400
X400ABR HD Abrasion 28.1 11 43/4 4 3 N/A P350/400
X400F Flare 7.5 7 5/8 6 27/8 21/4 N/A P350/400
X400PT ABR/Penetration| 26.1 11 3/4 51/8 4 3 N/A P350/400
X400T Tiger 15.0 12 4 3 N/A P350/400
X400WT Twin Tiger 24.1 12 61/8 4 3 N/A P350/400
X400WTL Twin Tiger Long| 23.1 13 511/16 4 3 N/A P350/400
X410 Long 21.7 11 3/16 47/16 41/16 3 3/4 K410S P410STP
X410T Tiger 22.6 13 3/8 41/16 3 3/4 K410S P410STP
X410WT Twin Tiger 27.6 13 3/4 65/8 41/16 3 3/4 K410S P410STP
X450 Long 28.2 12 1/4 47/8 49/16 45/16 K450S P450
X450PT ABR/Penetration| 43.8 137/8 51/2 49/16 45/16 K450S P450
X450T Tiger 31.3 15 49/16 45/16 K450S P450
X450 WT Twin Tiger 37.5 15 7 1/4 49/16 45/16 K450S P450
X475 Long 34.8 12 1/8 5 3/4 4 3/4 31/2 N/A P475
X475TL Tiger Long 32.0 13 3/4 4 3/4 31/2 N/A P475
X475WTL Twin Tiger Long| 37.3 14 7 4 3/4 31/2 N/A P475
X500 Long 48.5 N/A K500R
X500RC Rock Chisel 57.0 15 1/2 51/4 5 45/8 N/A K500R
X500RP3 HD ABR/Penetration| 80.0 16 1/8 51/4 5 45/8 N/A K500R
X500SYL Excavator Tooth | 50.0 15 3/4 6 5 45/8 N/A K500R
X550RC Rock Chisel 82.0 17 1/2 6 3/4 5718 55/8 N/A K550R
X550RP2 ABR/Penetration| 123.0 19 1/2 6 5718 55/8 N/A K550R
X550RP3 HD ABR/Penetration| 140.0 20 61/8 5718 55/8 N/A K550R
X600RS2 Rock Penetrator | 61.4 14 3/4 5718 5 3/4 45/8 N/A P600HD




R ——

|
—ok—

HENSLEY® STYLE PARABOLIC ADAPTERS

Part # Style Weight Ibs. | A B C D Steel Pin Flex Pin
835X156 Weld-on 3.5 4 3/4 2 1/4 11/16 2 P156 N/A
550X156 Weld-on 4.7 6 1/4 2 13/16 11/8 21/8 P156 N/A
552X156 Weld-on 5.4 6 31/2 13/16 2 1/4 P156 N/A
850X160 Weld-on 5.5 6 5 3/4 11/4 2 1/4 P160 N/A
658X160 ‘Weld-on 10.6 8 4 3/8 11/2 2 1/4 P160 N/A
109X220 ‘Weld-on 16.1 8 1/4 5 1/4 15/16 3 P160 N/A
153X310 Weld-on 20.9 10 4 3/4 19/16 3 3/4 P160 N/A
127X290 ‘Weld-on 21.5 10 4 3/4 15/16 35/8 K290S P290STP
158X290 ‘Weld-on 22.1 91/2 511/16 11/2 65/8 K290S P290STP
158X330 Weld-on 34.3 10 1/4 63/4 19/16 41/2 K330S P330STP
940X370 ‘Weld-on 36.4 11 3/4 5 1/4 21/16 45/8 K370S P370STP
940X410 Weld-on 43.4 12 5 1/4 21/16 51/8 K410S P410STP
988X475 ‘Weld-on 86.3 13 5/8 12 3/8 21/16 5 3/4 N/A P475
802X400 ‘Weld-on 48.0 12 3/8 65/16 21/16 51/8 N/A P350/400
303X450 Weld-on 69.0 13 85/8 29/16 5 3/4 K450S P450

HENSLEY® STYLE ‘5” SERIES TEETH

Part # Style Weight lbs. [ A B C D Steel Pin Flex Pin
225 Long 6.2 7 2718 2 1/4 21/8 N/A P225
295 Long 8.4 8 3 1/4 2 31/32 217/32 P295 N/A
335 Long 11.4 91/4 3 3/4 2 15/16 3 7/16 P335 N/A
335RC Rock Chisel 16.1 10 1/8 31/2 2 15/16 3 7/16 P335 N/A
335T Tiger 12.8 11 2 15/16 3 7/16 P335 N/A
335WT Twin Tiger 13.9 11 5 1/4 2 15/16 3 7/16 P335 N/A
385 Long 22.7 10 3/4 43/8 43/8 4 P385 N/A
385RC Rock Chisel 25.3 11 5/8 41/16 43/8 4 P385 N/A
385T Tiger 24.0 12 5/8 43/8 4 P385 N/A
385WT Twin Tiger 23.8 12 5/8 6 43/8 4 P385 N/A
485 Long 48.3 137/8 61/8 5 415/32 P485 N/A
485RC Rock Chisel 58.5 15 51/8 5 415/32 P485 N/A
485RP3 HD ABR/Penetration | 76.0 15 1/4 5 3/16 5 415/32 P485 N/A
A Toll Free: 877-871-8787 . .
AH “Se Habla Espafiol” Dimensions may vary by manufacturer.
A From Mexico:
Phone: 001-800-833-8097
HEMQ“IP From Central & South America: -
A 1| Phone: 001-281-481-6735 All manufacturers’ names, numbers, symbols & descriptions
HEAVY EQUIPMENTPARTS & SERVICE  Erom Quebec “Service en Francais”: are used for reference purposes only, and it is not implied that

14 Phone: 877-638-9825 any part listed is the product of these manufacturer’s.



White kon ——-

- . o
SR

VT 3
Mid stoet =Y AU Y UL YL UYL L DL L AL L LD LN 70 o 7 74 D

CHOCKY BARS
(EXHIBIT A)

1
- ‘

e

i~

CHOCKY BARS
Part # Weight Ibs. A B C D E
CB40 3.1 97/16 19/16 19/32 5/16 19/16
CB50 4.2 97/16 131/32 19/32 5/16 19/16
CB65 5.3 97/16 29/16 19/32 5/16 19/16
CB100 9.5 97116 3 15/16 19/32 5/16 19/16
CB130 12.3 97/16 51/8 19/32 5/16 19/16
White Iron Casting Y .
Braze Joint >~ ¥
C*
I Y
/I <€ A :!
Mild Steel
WEAR BUTTONS (WHITE IRON)
Part # Weight Ibs. A B C D E
WB60 0.9 2 3/8 3/4 3/8
WB75 2.0 2 3/4 1 3/8
WB90 2.4 31/2 13/16 3/8
WB115 4.8 41/2 11/4 1/2
WB150 10.6 6 15/8 5/8
1 5 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of

these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com




ESCO® STYLE HELILOK®/VERTALOK® TEETH

;Aj
()

Twin Tiger

Part # Style Weight Ibs. | A B C Horseshoe Lock Vertalok®
21SYL SYL 7.2 7 1/2 3 1/2 21LKS N/A
27S6F Flare 13.6 8 3/4 6 1/4 27LKS 27VIKIT
27SYL SYL 10.6 8 31/2 5/8 27LKS 27VIKIT
27VIP Tiger 9.0 7 314 27LKS 27VIKIT
27TVIP Twin Tiger 10.0 7 314 3 3/4 27LKS 27V/KIT
37S7F Flare 22.7 11 7 1/3 37LKS 37VIKIT
37SYL SYL 17.6 91/2 43/4 23/32 37LKS 37VIKIT
37VIP Tiger 13.5 91/2 37LKS 37VIKIT
37TVIP Twin Tiger 16.8 91/2 61/4 37LKS 37VIKIT
47S9F Flare 35.0 12 5/8 9 19/50 471LKS 47VIKIT
47SYL SYL 25.8 11 5 1 47LKS 47V/KIT
47VIP Tiger 22.1 11 471LKS 47VIKIT
47TVIP Twin Tiger 24.9 11 51/8 47LKS 47V/KIT
57S9F Flare 65.7 14 3/4 9 57LKS 57VIKIT
57SYL SYL 41.0 13 6 1 57LKS 57VIKIT
57VIP Tiger 34.0 13 1/8 57LKS 57VIKIT
57TVIP Twin Tiger 40.8 13 1/8 5718 57LKS 57VIKIT
Type 1-Conical Type 3-Ripper +
|
. P am——— ’
ESCO® STYLE CONICAL and SUPER CONICAL® TEETH
Part # Style & Type | Weightlbs. | A B C D E Pin Lock
18TL Dual Purpose 1 (22 25/8 11/2 13/16 5 3/4 2 3/16 18-20PN 18-20LK
228 Sharp 1 |35 31/2 25/16 21/4 61/2 21/8 22PN 221K
25TF 1 |6.8 3 9/16 2 3/8 29/16 7 31/4 25-30PN 25-30LK
25S Sharp 1]5.0 3 9/16 2 3/8 2 9/16 7 21/2 25-30PN 25-30LK
308 Sharp 11|59 3 3/16 2 3/8 3 7 1/8 3 3/8 25-30PN 25-30LK
30vVIP Tiger 1 |68 3 3/16 2 3/8 3 8 3/4 25-30PN 25-30LK
35S Sharp 1 (7.7 3 13/16 2718 31/2 8 3/8 25/8 35PN 35-40LK
35VIP Tiger 1 |82 3718 2 13/16 31/2 10 9/16 35PN 35-40LK
40S Sharp 1 |14.1 41/4 31/8 4 9 3/8 4 3/16 40PN 35-40LK
40VIP Tiger 1 |128 4 3/4 31/2 41/2 8 9/16 40PN 35-40LK
458 Sharp 11170 43/4 31/2 41/2 10 5/8 43/4 45PN 45LK
45VIP Tiger 1 |17.4 4 3/4 31/2 45/16 13 5/8 45PN 45LK
508 Sharp 1 |225 53/8 3 13/16 4718 11 1/8 511/16 50PN 50LK
65SP Sharp Penetration 1 | 61.0 7 1/8 51/4 6 3/8 14 3/4 6 1/4 65PN 65LK
Side Cutter: PDE31329 (Universal)  35.6lbs  3” Bolt-5]2409  7/8” Nut-2]3505
ESCO® and KELLY® STYLE RIPPER TEETH
Part # Style & Type | Weightlbs. | A B C D E Pin Lock
25R12 Ripper Tooth 3 | 11.4 5 3/4 3 3/8 25/8 11 1/8 17/8 25RP 25RB
35R14A Ripper Tooth 3 | 26.0 8 1/16 45/8 3 9/16 14 25/8 35RP 35RB
54D16 Ripper Tooth 2 | 37.0 15 1/2 5 3/4 7 1/4 1




o ____L_
\T | | 1
(4] S Ll
A I +
Bottom-leg Wrap-around Flush-mount
-A
— oW
c ;_l /\O C
ol I— O C— ? —s— f
k—B—l
A
H & L® STYLE TEETH
Part # Style Weight Ibs. | A B C D Pin Lock
11A Trencher Tooth | 0.7 N/A N/A
00SP Crimp-on Fab 0.5 3 5/16 2 3/8 11/16 1 N/A N/A
13/4 Crimp-on Fab 1.2 7 11/4 3/4 11/5 N/A N/A
2A Crimp-on Fab 0.9 41/8 13/4 11/16 11/4 N/A N/A
3CH Crimp-on Fab 1.7 41/2 21/4 11/2 15/8 N/A N/A
3CHS Cast Short 1.5 4718 21/4 11/2 13/4 N/A N/A
3CHL Cast Long 2.2 51/2 21/8 11/2 13/4 N/A N/A
23SP Short 2.7 51/8 2 1/16 19/16 111/16 230PN N/A
23 Long 3.3 61/4 2 3/8 19/16 111/16 230PN N/A
23F Flare 3.0 51/4 43/8 1 14/25 12/3 230PN N/A
23HD Fabricated 2.0 5 3 1/4 19/16 111/16 230PN N/A
23RC Rock Chisel 3.1 61/2 13/4 11/2 120/29 230PN N/A
23T Tiger 2.3 61/16 19/16 111/16 230PN N/A
23TL Tiger Long 2.2 67/16 19/16 111/16 230PN N/A
23W Wing Tip 3.2 5 3/4 115/16 19/16 111/16 230PN N/A
23WT Twin Tiger 3.4 6 1/4 2 15/16 19/16 111/16 230PN N/A
23WTL Twin Tiger Long| 2.6 67/16 3 19/16 111/16 230PN N/A
23FT Flying Tiger 3.1 611/16 19/16 111/16 230PN N/A
23ST Star Penetration | 2.8 61/16 19/16 111/16 230PN N/A
2400 Long 4.1 7 1/2 21/8 19/16 21/8 240PN N/A
2500 Long 5.2 7 718 2718 2 3/32 21/8 250PN N/A
2500ST Star Penetration | 6.1 81/2 2 3/32 21/8 250PN N/A
2700 Long 9.1 7 5/16 3 13/16 2718 2 1/4 270PN N/A
H & L® STYLE ADAPTERS
Part # Style Weight Ibs. | A B C D Pin Lock
2AF Flush Mount for 2A | 2.0 61/4 1/2 5/16 N/A N/A
1002-3C Flush Mount for 3CH| 3.7 8.0 31/2 1 N/A N/A
230W0 Bottom Leg 3.3 81/8 3 1/16 13/16 230PN N/A
230FL Flush Mount 22° 4.0 81/8 31/16 13/16 230PN N/A
2300FL Flush Mount 30° 3.5 8 1/4 21/4 230PN N/A
2740-MW-23 | Wrap 3/4" lip 4.0 61/16 2718 13/16 230PN N/A
2740-ZW-23 | Wrap Around 4.1 61/16 2718 1 230PN N/A
2740-AFW-23 | Adapter Flared 4.3 61/16 2718 1 230PN N/A
2740-24 Wrap Around 74 59/16 2 13/8 240PN N/A
2740AW-252 | Wrap Around 7.5 55/8 115/16 13/8 250PN N/A
3000W-27 Wrap Around 13.1 61/4 19/16 111/16 270PN N/A
A Toll Free: 877-871-8787
“Se Habla Espaiol” . .
AHA From Mexico: Dimensions may vary by manufacturer.

Phone: 001-800-833-8097
HEGWQ“IP From Central & South America:
S e ——— Phone: 001-281-481-6735 , -

HEAVY EQUIPMENT PARTS & SERVICE  Erom Quebec “Service en Francais”: All manufacturers’ names, numbers, symbols & descriptions
17 Phone: 877-638-9825 are used for reference purposes only, and it is not implied that

any part listed is the product of these manufacturer’s.




JOHN DEERE® STYLE TEETH for 544E, 644E, 455G, 555G

C

Part # Style Weight Ibs. | A B C D E Pin Lock
T103189 Long 5.7 21/2 111/16 21/4 63/4 23/4 T112195 [ T112196
T105690 ABR Penetration | 4.5 21/2 111/16 2 1/4 7 3/4 T112195 [ T112196
JOHN DEERE® STYLE TEETH for 450B/C, 455 D/E, 555 D/E
Part # Style Weight Ibs. | A B C D E Pin Lock
T29887 Long 2.8 113/16 113/16 27/16 6 1/4 2 15/16 P160 N/A
JOHN DEERE® STYLE TEETH for 655B, 755B, 744E
Part # Style Weight Ibs. | A B C D E Pin Lock
T69647 Long 10.2 4 3/8 31/8 21/2 9 21/2 9]2308 | 3G9609
j—A—
f— B
JOHN DEERE® STYLE ADAPTERS
Part # Style Weight Ibs. | A B C D E
T112164 Adaptor Bolt-On | 9.3 67/16 2 13/16 3/4 31/8
T104673 Adaptor Bolt-On | 27.5 95/8 95/8 95/8 13/8 31/4
U16864 Adaptor Bolt-On | 15.2 11 1/2 6 11/4 21/2
HENDRIX® STYLE TEETH AND DREDGE PARTS
Part # Style Weight Ibs. | A B C D E Pin
214P Long 12.3 81/2 35/8 2 3/4 3 15/16 43/8 4EP
214T Tiger 11.5 6 2 3/4 3 15/16 43/8 4EP
314P Long 13.9 9 3/8 4 2 15/16 3 15/16 45/16 4EP
414P Long 18.1 10 41/2 3 1/4 415/16 43/8 4EP
885 Long 56.9 13 9/16 61/8 4718 65/16 63/8 5BP
1285B Long 83.0 14 7/16 7 7 811/16 67/16 5BP
1385B Long 86.0 15 13/16 51/8 7 1/8 8 13/16 87/16 5BP
H9801 Dredge Point 14.3 Lock - 1086LKR Pin - F4A5795AHX
H9118 Dredge Repointer | 1.5
H9801WN | Weld-on Nose 13.9

A

A\

HEAVYQUIP

HEAVY EQUIPMENT PARTS & SERVICE

18

Toll Free: 877-871-8787

“Se Habla Espaiol”
From Mexico:

Phone: 001-800-833-8097

From Central & South America:
Phone: 001-281-481-6735

From Quebec “Service en Francais”:

Phone: 877-638-9825

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.




BOBCAT® STYLE TOOTH AND ADAPTER

Tooth Weight Pin Pin Style Adapter Bolt Nut
6728801 2.2 P156 Roll 6725278 6729510 95D10
6737325 2.16 6737326 Flex 6725278FPA | 6729510 95D10

A

| X o

D = Pocket Height

D = Pocket Height

«——B—>

b

(Pocket)

D = Pocket Height

Center Right Left

ADCO® STYLE TEETH AND ADAPTER NOSES
Part # Style Weight Ibs. | A B C D Pin Lock
100C Center 3.0 53/4 53/4 15/8 15/8 P156 N/A
100RH Right Tiger 3.1 5 3/4 5 3/4 15/8 15/8 P156 N/A
100LH Left Tiger 3.1 53/4 53/4 15/8 15/8 P156 N/A
3000RC Center 8.0 8 1/4 81/4 4 3/16 P160 N/A
3000RH Right Tiger 5.9 8 1/4 5 P160 N/A
3000LH Left Tiger 5.9 8 1/4 5 P160 N/A
3010WNRC | Center w/o Nose | 10.5 P160 N/A
3010RWN | Right w/o Nose | 7.5 P160 N/A
3010LWN Left w/o Nose 7.5 P160 N/A
400C Center 17.3 8E6358 8E6359
400RH Right Tiger 20.2 8E6358 8E6359
400LH Left Tiger 20.2 8E6358 8E6359
4000RH Right Tiger 12.5 P160 N/A
4000LH Left Tiger 12.5 P160 N/A
4010WNR Right w/o Nose | 15.5 P160 N/A
4010WNL Left w/o Nose 15.5 P160 N/A
FORD® STYLE TOOTH AND ADAPTER
Part # Style Weight Ibs. | A B C D Pin Lock
555 Long 2.5 53/4 2 121/32 113/32 062380 N/A
2740-555 Adapter Weld-On| 4.8 4 3/4 2 3/16 11/16 2 5/16 062380 N/A

A Toll Free: 877-871-8787

“Se Habla Espaiol”
From Mexico:
Phone: 001-800-833-8097
From Central & South America:
Phone: 001-281-481-6735
From Quebec “Service en Francais”:
Phone: 877-638-9825

Vi 1\
HEAVYQUIP

HEAVY EQUIPMENT PARTS & SERVICE

19

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.




KOMATSU® STYLE TEETH

(See page 2 for drawing.)

Part # Style & Model Weight Ibs. |A B C D Pin Lock
175-78-31230 Ripper D85/155 32.2 7 1/4 53/16 31/4 13 1/8 175-78-21740 N/A
195-78-21331 Ripper D355/455 42.2 85/8 61/6 3 3/16 14 1/2 175-78-21740 N/A
205-70-19570 Long PC100/200 10.2 8 3/4 3 2718 3 092-44-02496 N/A
207-70-14151 Long PC220/360 16.0 9 3/4 3 3/4 41/2 49/16 175-78-21740 N/A
207-70-14151T | Tiger PC220/360 16.0 11 1/4 41/2 49/16 175-78-21740 N/A
207-70-14151WT | Twin Tiger PC220/360 19.3 11 1/4 611/16 41/2 49/16 175-78-21740 N/A
208-70-14152 Long PC400 23.3 10 3/4 45/16 5 5 3/4 092-44-03036 N/A
208-70-14152T | Tiger PC400 27.7 14 5 5 3/4 092-44-03036 N/A
208-70-14152WT | Twin Tiger PC400 30.1 14 41/4 5 5 3/4 092-44-03036 N/A
20T-70-13130 Mono Block Bolt-on PC30/40 5.5 9 3/8 13/4 13/4 Bolt - 3F5108 [Nut - 4K0367
423-847-1140 Long WA350/470 16.7 10 1/4 413/16 41/2 5 175-78-21740 N/A
426-847-1110 Long WA500/600 | 26.7 11 1/4 41/16 51/4 51/2 426-847-1130 N/A
426-847-1110PT | ABR/Penetration 'WAS500/600 47.0 13 41/2 5 3/4 51/2 426-847-1130 N/A
FIAT® STYLE TOOTH for FL14 DOZER, 161 SCRAPER, 645 LOADER (See page 2 for drawing.)
Part # Style Weight Ibs. | A B C D Pin Lock
20853 Long 4.6 7 3/8 3 19/16 21/16 240PN N/A
HYUNDAI® STYLE TOOTH (See page 2 for drawing.)
Part # Model Weight lbs. | A B C D Pin Lock
E161-3027 R130/200 11.1 81/2 3 3/4 31/4 4 8E6358 3G9549

HEAVYQUIP NOTES:

A

Vi 1\
HEAVYQUIP

HEAVY EQUIPMENT PARTS & SERVICE

20

Toll Free: 877-871-8787

“Se Habla Espaiol”
From Mexico:
Phone: 001-800-833-8097
From Central & South America:
Phone: 001-281-481-6735
From Quebec “Service en Francais”:

Phone: 877-638-9825

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.



FLYINOG TIOER

From H

A radically new BACKHOE/ EXCAVATOR TOOTH specifically designed and
engineered to penetrate, fracture, and load better than any tooth ever before.

GUARANTEED

To improve any machine’s productivity and bucket performance.

HOW DOES IT WORK?

The sharp TIGER point design provides the
least resistance to penetration in any
material. As the sharp point easily continues
to penetrate like a wedge in a log, it fractures
and loosens the material for easy loading

which starts at the leading edge of the wing.
The material then passes up and over the
wing going directly into the bucket,
eliminating most wear on the bucket edge

Easy Penetration
Maximum Fracturing
Immediate Loading

ALL SIMULTANEOUSLY

60% earlier than with a standard long point.

BENEFITS TO YOU

* Greater Digging/Loading Depth
Bucket starts loading at leading edge of wing,
not bucket edge.

* Increased Bucket Load Potential
Bucket can heap to leading edge of wing
instead of bucket edge.

* Substantially Improved Bucket Edge

and Shank Wearlife
Material flows up and over the wing
directly into bucket.

* Extended Tooth Wearlife
Unique winged design reduces “Over Dig” -
penetrates, fractures, and loads 60% sooner
than a standard tooth.

* Smoother Ditch Bottom
Less ditch bottom disruption -
less compaction or gravel needed.

Make

FLYING TIGE

Y

_
Load quicker, dig deeper,
increased load capacity with
less wear and tear on the
machme, bucket, and ground

engaging parts while producing

a smoother ditch bottom.

ALL FOR THE COST
OF A SET OF TEETH

[ z?#;etit ive
i | Edge!




FLYING TIGER®*AND WING TIP STYLE TEETH FOR CAT® AND H&L® I

l._m_,

(Patented)
Part # Family Weight lbs. | A B C D E F G
1U3202FT |]J200 3.0 61/2 2 3/8 21/4 5 3/8 2 3/16
6Y3222FT J225 5.5 8 3 3/16 29/16 5 3/8 21/2
1U3252FT |]J250 9.0 8 3 15/16 2718 61/2 1/2 2718
1U3302FT | ]300 12.0 91/2 41/4 4 7 1/2 5/8 3 1/4
1U3352FT |[]J350 19.8 11 47116 41/8 87/16 11/16 41/16
7T3402FT | J400 26.5 12 3/8 55/16 4718 9 3/8 13/16 4
1U3452FT | J450 28.7 13 5/16 55/16 5 3/16 10 1/2 718 51/2
1U3552FT |]J550 54.2 151/8 6 3/8 65/16 14 11/16 6 3/8
23W Long 3.2 53/4 115/16 19/16 111/16 | 47/8 3/8 2 3/16
23FT Tiger 3.1 611/16 19/16 111/16 | 47/8 3/8 2 3/16
SEE CAT® (pages 3 & 4) and H & L® (page 17) for A, B, C, & D measurements.

Item # Description Weight Ibs. Item # Description Weight Ibs.
4F3649 1/2" x 2" Plow Bolt 0.15 5J4772 7/8" x 2 1/2" Plow Bolt 0.49
4F3662 1/2" x 3" Plow Bolt 0.19 6F0196 7/8" x 2 3/4" Plow Bolt 0.53
1D4719 1/2" Hex Nut 0.04 5J2409 7/8" x 3" Plow Bolt 0.56

2J2548 7/8" x 3 1/2" Plow Bolt 0.66
4F3664 5/8" x 1 1/2" Plow Bolt 0.16 2J5458 718" x 4 1/4" Plow Bolt 0.79
4F3653 5/8" x 1 3/4" Plow Bolt 0.18 1J0849 7/8" x 4 5/8" Plow Bolt 0.86
4F3654 5/8" x 2" Plow Bolt 0.20 2J3505 7/8" Hex Nut 0.18
3F5108 5/8" x 2 1/4" Plow Bolt 0.22
4F3656 5/8" x 2 1/2" Plow Bolt 0.24 3J2801 1" x 2 1/2" Plow Bolt 0.60
4F3657 5/8" x 2 3/4" Plow Bolt 0.27 1J5607 1" x 2 3/4" Plow Bolt 0.71
4F3658 5/8" x 3" Plow Bolt 0.29 4F4042 1" x 3" Plow Bolt 0.78
4F3665 5/8" x 3 1/2" Plow Bolt 0.33 4]9058 1" x 3 1/4" Plow Bolt 0.84
4F0391 5/8" x 3 3/4" Plow Bolt 0.35 4]9208 1" x 3 1/2" Plow Bolt 0.89
4F3671 5/8" x 4" Plow Bolt 0.37 8)2928 1" x 3 3/4" Plow Bolt 0.94
4K0367 5/8" Hex Nut 0.07 5P8136 1" x 4" Plow Bolt 0.98

1J3527 1" x 4 1/2" Plow Bolt 1.10
4F3672 3/4" x 2" Plow Bolt 0.30 2]3507 1" Hex Nut 0.27
4F7827 3/4" x 2 1/4" Plow Bolt 0.33 8J2933 1" Taper Nut 0.30
5J4773 3/4" x 2 1/2" Plow Bolt 0.35
5J4771 3/4" x 2 3/4" Plow Bolt 0.39 6V6535 1 1/4" x 3 3/4" Plow Bolt | 1.50
4F0138 3/4" x 3" Plow Bolt 0.42 508823 11/4" x 4 1/4" Plow Bolt | 1.97
1J6762 3/4" x 3 1/4" Plow Bolt 0.42 6V8360 11/4" x 4 1/2" Plow Bolt | 2.17
5F8933 3/4" x 3 3/4" Plow Bolt 0.51 5P8361 1 1/4" x 5" Plow Bolt 2.36
1J0962 3/4" x 4 1/4" Plow Bolt 0.55 3K9770 1 1/4" Hex Nut 0.53
4F0253 3/4" x 4 1/2" Plow Bolt 0.61 5P8362 1 1/4" Taper Nut 0.60
2J3506 3/4" Hex Nut 0.12 8T9079 11/4" x 3 1/4" Plow Bolt | 1.40

22 All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only, and it is not implied that any part listed is the product of
these manufacturers. Dimensions may vary by manufacturer. Voice: 1-877-871-8787 Se habla Espanol: 1-800-833-8097 http://www.heavyquip.com




HOW TO IDENTIFY MOST CATERPILLAR STYLE TEETH

The final digit describes point shape, and the next to the last two digits describe the pocket size in most
but not all part numbers:

FAMILY EXAMPLE POCKET SIZE* POINT SHAPE

J200 1U3201 20 = 2.0” 1=SHORT

J250 3G8250 25 =2.5” 0=FLARED/WIDE

J300 1U3302 30 = 3.0” 2=LONG & HD LONG

J350 4T2353 35 =3.5” 3=ABRASION & HD ABRASION
J400 6Y5408 40 = 4.0” 8=SHARP (TIGER)

J450 9W8459 45 = 4.5” 9=PENETRATION

J550 107-3550 55 =5.5” 0=FLARED/WIDE

*To measure the pocket width, place a tape measure across the back of the tip and measure from the mid
point of each side wall.

ABBREVIATIONS & DESCRIPTIONS FOR HEAVYQUIP TEETH
RDX  ROCK & CHISEL FOR ESCO®

ABR ABRASION RH RIGHT HAND

AP ALL PURPOSE S SHARP FOR ESCO®

C CENTER OR CARBIDE SD SHARP & CHISEL FOR ESCO®

FG FORGED SFG  SHARP & FORGED FOR ESCO®

FL FLUSH MOUNT Sp SHARP PENETRATION FOR ESCO°®
FT FLYING TIGER ST STAR PENETRATION

FP SUPER CONICAL® FOR ESCO® STD - STANDARD FOR ESCO®

T TIGER OR TILT FOR ESCO®

HD HEAVY DUTY TF  TILT FLARE FOR ESCO®

L LONG TL  TIGER LONG OR ESCO® DUAL

LH LEFT HAND PURPOSE LONG

LP LONG & PANELLED FOR ESCO® TT  TWINTIGER FORH & L

NR NON-REVERSIBLE TVIP TWIN TIGER FOR ESCO®

P PYRSA PENETRATION STYLE VIP  TIGER FOR ESCO®

RP2/PT  SPECIAL ABRASION & PENETRATION W WING TIP

RP3/PT3 HEAVY DUTY ABRASION & PENETRATION WN  WELD-ON NOSE

N ROCK FOR ESCO® WO  WELD-ON BOTTOM LEG
WT  TWIN TIGER

RC ROCK CHISEL WTL TWIN TIGER LONG

APPLICATIONS FOR HEAVYQUIP TOOTH SHAPES

Short: for excavators, loaders, and backhoes - for use when impact and breakage is a problem.

Long: for excavators, loaders, scrapers, and backhoes - all purpose shape.
Abrasion: for loaders - has extra metal for longer wear life.

Penetration: for loaders and excavators - for tightly compacted material.

Tiger or Sharp: for excavators and backhoes - used in frost, shale or rock for maximum penetration.

Twin Tiger: for excavators and backhoes - used for maximum fracturing and loading or on corners with Tigers.
SYL (Special Long): for excavators - extra long tooth specifically designed to stay sharp longer.

PT and PT3 Abrasion/Penetration: for loaders - combines added wear material and design to deliver an abrasion point

with penetration type performance. Suitable for applications using RP2, RP3, ARP.

Flared or Wide: for excavators, backhoes, and compactors - increases bucket capacity with cleaner ditch

bottom, but little penetration. For soft material.

Flying Tiger/Wing Tip: for excavators, backhoes, and scrapers - saves bucket lip, increases bucket capacity, gives pene-

tration of Tiger with 2-4 times wear life.
Ripper: Centerline - used in abrasion conditions where penetration is not a problem.
Ripper: Penetration - used in conditions where penetration is difficult.

Rock Chisel: for excavators and backhoes - used in rock and extreme conditions for better penetration.

23



DIMENSIONS - INCHES

CAT® TOOTH A

(CENTER WIDTH) FAMILY
[ A (DEPTH) —] ° 1200
7op Wi ]225

g / J250
(;ZZZZZZZZZ? 7300
O HEIGHT J350
7400

\EZZZZZZZZZE‘ J1450/]460

b 7550
(BOTTOM WIDTH) JGOO
J700

7800

HEAVYQUIP NOTES:

2-7116
2-13/16
3-1/8
3-1/2

4
4-17/16
4-3/4
5-19/32
6-11/16
6-7/8
7-3/4

B C D
1-27/32 1-9/16 1-13/32
2-11/32 1-15/16 1-3/4
2-11/16 2-5/32 1-15/16
3-1/32 2-5/8 2-3/8
3-15/16 2-15/16 2-11/16
3-21/32 2-15/32 3-5/32
3-29/32 3-718 3-17/32
4-11/32 4-11/16 4-5/16
5-7132 5-5/8 5-5/32

6 6-1/16 5-5/8
5-3/4 6-5/8 5-15/16

A Toll Free: 877-871-8787

AN s b Espaor
HEAVYQUIP

Phone: 001-800-833-8097
From Central & South America:
HEAVY EQUIPMENT PARTS & SERVICE

Phone: 001-281-481-6735
24 Phone: 877-638-9825

From Quebec “Service en Francais”:

Dimensions may vary by manufacturer.

All manufacturers’ names, numbers, symbols & descriptions
are used for reference purposes only, and it is not implied that
any part listed is the product of these manufacturer’s.



HEEWQUIP® Parts for Blaw-Knox®, Barber-Greene®,
Gaterpillar®, Gedarapids®, Roadtec®,

PAVER PARTS DIVISION Leeboy®, Ghampion-Allatt® Pavers

Screed Plates

Precision formed and milled from special 425, 500 and 600 brinell alloy steel,
Heavyquip® screeds are famous for long wear-life and quality finish. We also offer
a range of chromium carbide screed plates for extra long wear-life.

GConveyor Chain and Bar Assembly for Asphalt Pavers and Plants
Large range of precision steel roller conveyor chain and conveyor bars.

Ni-Hard Augers

Precision cast 550 brinell ni-hard augers assure long wear life.

Floor Plates
Ranging from 425 special alloy steel to 550 brinell cast ni-hard.

Track Chains, Pads and Componenis

Steal Track chains, urethane and rubber track pads available for
pavers and milling machines.

Sprockets
Wide range of induction hardenad forged sprockets.

Bearings

Heavyquip® carries the full line of SealMaster® high heat bearings for Blaw-Knox, Cedarapids,
Global, Allatt and Champion pavers. This compliments our line of high heat greaseable
bearings for Barber Greene and Blaw-Knox.

Roadtec® Shuttle Buggy®

Heavyquip® carries a variety of parts for your Shuttle Buggy® including augers, sprockets,
bearings, wear liner plates, conveyor chains and bars.

Burner Chambers
Made of high quality alloy steel and available for most models of pavars.




HEAVYQUIP's products are not limited to the
Ground Engaging Tool parts in this catalog.
HEAVYQUIP's commiiment o our construction equipment
customers also includes the manufacturing and

stocking of a full range of Undercarriage, Asphalt Paver
Parts, Rubber Tracks and the listing of products helow.

Our Total Product Range —

In addition, HEAVYQUIP carries thousands of line items of the following parts:

e Undercarriage — Track Chains, Track Rollers, Sprockets, Idlers, Shoes, Segments, Pins and Bushings, Track Hardware,
Seal Groups, and other repair parts. Used undercarriage is available. (Catalogue available at www.HEAVYQUIP.com)

e Other Ground Engaging Tools — Teeth, Bolt on Adapters, Weld on Adapters, Ripper Teeth and Shanks, Scarifier Teeth
and Shanks, Compactor Feet, Stands and Cleaner Bars, Bucket Side Cutters, Chocky Bars and Wear Buttons for CAT®, Komatsu®,
John Deere®, Case®, and many others. Tungsten Carbide Impregnation available.

* Rubher Tracks — Continuous Rubber Tracks for most Mini-Excavators, Skid Steer Loaders, Pavers and other machines.
Idlers, Sprockets and Rollers are also available for Mini-Excavators and Skid Steer Loaders.

 Cutting Edges and End Bits — Heat Treated and Carbon Cutting Edges, End Bits, Grader Blades, and Snow Plow Blades
and Mushroom Drag Shoes for CAT®, John Deere®, Case®, IH*, homatsu®, Reynolds®, Fiat®, and others. Tungsten Carbide
Impregnation available.

* Asphalt Paver Parts — Track Chains, Pads and Bands, Screed and Floor Plates, Sprockets, Conveyor Chain/Bar Assemblies,
Augers, and Sealmaster*Bearings for Blaw-Knox®, Cedarapids® (Terex®), Barber-Greene® (Caterpillar®), Leeboy®, and
Roadtec®. (Catalogue available at www.HEAVYQUIP.com)

* Scraper Parts — Rollers, Sprockets, Chains & Flights, Idlers, Blades, and Guides.

* Sweeper Parts — Tungsten Carbide Insert Drag Shoes, Wafers, and Complete Brooms.

e Engine Paris — Pistons and Liners, Bearings, Heads, Crankshafts, Valves, Camshafts, Gasket Kits, Mufflers, Manifolds,
Pumps (fuel, water, and oil), and more.

* Transmission Parts — Gears, Pins, Carriers, Friction Discs, and other parts are available for CAT®.

 Final Drive and Steering Cluich — Bull Gears, Pinions, Planetary Gears, Bearings, Drums, Seal Groups, and Friction
Discs are available for CAT".

* Miscellaneous — Grouser Bar, Frame Parts, Wear Strips, Sheet Metal, Hydraulic Pumps, Brake Parts, Trencher Parts, and more.

 Used Parts — HEAVYQUIP stocks used and rebuilt undercarriage and has on-line sources for many other applications.

HEGVYQJIP

HEAVY EQUIPMENT PARTS & SERVICE

All manufacturers’ names, numbers, symbols & descriptions are used for reference purposes only,
and it is not implied that any part listed is the product of these manufacturers.

Dimensions may vary by manufacturer.



